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PERE | AErR | HEsE | PERE | FreR | Arrs
n 50cm 0.07 0.08 0.08 0.08 0.09 0.09
1132 |dLEFEF  |REE XEGRER 9A1H
1m 0.07 0.08 0.08 0.07 0.08 0.08
50cm 0.08 0.07 0.07 0.08 0.08 0.09
1133 |LIEEA  |9FHE B RA LSS SR 9818
1m 0.08 0.07 0.08 0.07 0.08 0.09
N 50cm 0.08 0.08 0.06 0.08 0.08 0.09
1134 |LIEEA  |9FHE IR R S RS E 9RA1H
1m 0.07 0.09 0.06 0.07 0.07 0.09
50cm 0.09 0.08 0.10 0.11 0.11 0.11
1135 |ALIBREAT /AR LB R AT LSS R 9818
1m 0.09 0.08 0.10 0.10 0.11 0.11
N 50cm 0.08 0.08 0.10 0.10 0.10 0.10
1136 [ALIEEF  [/hEdR LG R AT ST R B/ N AR 9A1H
1m 0.07 0.08 0.09 0.10 0.09 0.10
50cm 0.07 0.08 0.10 0.10 0.10 0.09
[EM] FEEIEM
1m 0.07 0.08 0.10 0.10 0.10 0.10
137 [SLIERA |k LB I E— Pk VI o T -
50cm 0.08 0.07
[EM] FEAEIEM
1m 0.07 0.08
N N N 50cm 0.09 0.08 0.10 0.11 0.13 0.13
1138 |LIERAT |2 IR R L BEE B h AR 9RA18
1m 0.09 0.09 0.10 0.10 0.13 0.13
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